



Löse jede Aufgabe. Schreibe deine Antwort als unechten Bruch (wenn möglich).

1)  $2\frac{1}{8} - 1\frac{6}{8} =$

2)  $4\frac{3}{12} - 2\frac{3}{12} =$

3)  $5\frac{5}{12} - 4\frac{5}{12} =$

4)  $8\frac{1}{8} - 1\frac{5}{8} =$

5)  $9\frac{1}{5} - 4\frac{2}{5} =$

6)  $9\frac{1}{2} - 7\frac{1}{2} =$

7)  $6\frac{3}{6} + 9\frac{3}{6} =$

8)  $8\frac{11}{12} + 8\frac{5}{12} =$

9)  $8\frac{1}{2} + 1\frac{1}{2} =$

10)  $9\frac{1}{3} + 1\frac{1}{3} =$

11)  $8\frac{1}{5} + 1\frac{4}{5} =$

12)  $1\frac{2}{4} + 1\frac{1}{4} =$

Antworten

1. \_\_\_\_\_

2. \_\_\_\_\_

3. \_\_\_\_\_

4. \_\_\_\_\_

5. \_\_\_\_\_

6. \_\_\_\_\_

7. \_\_\_\_\_

8. \_\_\_\_\_

9. \_\_\_\_\_

10. \_\_\_\_\_

11. \_\_\_\_\_

12. \_\_\_\_\_



Löse jede Aufgabe. Schreibe deine Antwort als unechten Bruch (wenn möglich).

$$1) \quad 2\frac{1}{8} - 1\frac{6}{8} = 0\frac{3}{8}$$

$$\frac{17}{8} - \frac{14}{8} = \frac{3}{8}$$

$$2) \quad 4\frac{3}{12} - 2\frac{3}{12} = 2\frac{0}{12}$$

$$\frac{51}{12} - \frac{27}{12} = \frac{24}{12}$$

$$3) \quad 5\frac{5}{12} - 4\frac{5}{12} = 1\frac{0}{12}$$

$$\frac{65}{12} - \frac{53}{12} = \frac{12}{12}$$

$$4) \quad 8\frac{1}{8} - 1\frac{5}{8} = 6\frac{4}{8}$$

$$\frac{65}{8} - \frac{13}{8} = \frac{52}{8}$$

$$5) \quad 9\frac{1}{5} - 4\frac{2}{5} = 4\frac{4}{5}$$

$$\frac{46}{5} - \frac{22}{5} = \frac{24}{5}$$

$$6) \quad 9\frac{1}{2} - 7\frac{1}{2} = 2\frac{0}{2}$$

$$\frac{19}{2} - \frac{15}{2} = \frac{4}{2}$$

$$7) \quad 6\frac{3}{6} + 9\frac{3}{6} = 16\frac{0}{6}$$

$$\frac{39}{6} + \frac{57}{6} = \frac{96}{6}$$

$$8) \quad 8\frac{11}{12} + 8\frac{5}{12} = 17\frac{4}{12}$$

$$\frac{107}{12} + \frac{101}{12} = \frac{208}{12}$$

$$9) \quad 8\frac{1}{2} + 1\frac{1}{2} = 10\frac{0}{2}$$

$$\frac{17}{2} + \frac{3}{2} = \frac{20}{2}$$

$$10) \quad 9\frac{1}{3} + 1\frac{1}{3} = 10\frac{2}{3}$$

$$\frac{28}{3} + \frac{4}{3} = \frac{32}{3}$$

$$11) \quad 8\frac{1}{5} + 1\frac{4}{5} = 10\frac{0}{5}$$

$$\frac{41}{5} + \frac{9}{5} = \frac{50}{5}$$

$$12) \quad 1\frac{2}{4} + 1\frac{1}{4} = 2\frac{3}{4}$$

$$\frac{6}{4} + \frac{5}{4} = \frac{11}{4}$$

Antworten

1.  $\frac{3}{8}$

2.  $\frac{24}{12}$

3.  $1$

4.  $\frac{52}{8}$

5.  $\frac{24}{5}$

6.  $\frac{4}{2}$

7.  $\frac{96}{6}$

8.  $\frac{208}{12}$

9.  $\frac{20}{2}$

10.  $\frac{32}{3}$

11.  $\frac{50}{5}$

12.  $\frac{11}{4}$